A+ #d hckeks Wichaal) had
) » g tcketo Fron Whad

Bx -\-"\)4-_-\28\_‘7;L Zx*y =3
035 X +o.5)= 4 )% 2 6% 4y =28 |=-)
2% +y =232
u *\-5x~7\/=18__
0.5y =4
< 38 8(2) *"\)’ =128
e4 4"'\) = 128
) z oM
= lb
chack: 0.35(3) a-orsy(\b) =1y
. e +8 =14
Mc/me.L hacl 8 fickes ¢ - ﬁam 14 =1
had lbo tche'/z' ‘
+\‘
b =2n
;F' by subshiufien
3‘9 b > 2( «-t)
3,9 ~b= 2? ¥ 2
pb =2
p= & P+\’Y\ check: 3@)-b = 2n
Brl=n M -b=2n
V\"'q. | 18 =2n
=1

“There are A newtvons






N = Space OCCu.P\éc‘ by sroll cages
&’ SPaCO. Occu-Pt'cJ b) \o.ra& cases

51+ 98y =39, |x-2

02 v +49y = 35.) Slx +9%(0.3) =39.¢  ched

L =tody = 96y = -39.2 Six 294 =396
lo2x + 44 = 35, | Slx =l/oi2
*l‘ﬁf) = —4y,| X=0,2
) > 0.3 | 102(0.2) +19(.3) = 35, |
204 + H.F =35,(
120 (0.3) = 30 m® 35,0 =35, v
. xX= Pro'b:u\’. on s\-\ovr".'sl._mve,el
97 ek o Long- chund
450 %+ 200y - 2700  |x2
300 % & 750) 21950  \x -3
+ 9OX * bOOj = 5400
~ 90 x - 50y = 5BSO
—\503 = —4sp
=3
200.% & 2%:(3) = 1456 eck  Hsoly) + 200(2) = 2708
30X + F50 =\450 (BO0 + GO0 = 2F00
3c0x.= \ 200 2700 = 2400 v~
v =4
?r(&;t = 250(#) + 200(3)
= (000 ¢+ OO

= % (600



X numbec of 5T dvack - Avips
A nummber 4 3T truck  trips

+y = 100 %23
5% 4 a = 40
~Bx "/.3/\ = -0
S% +.3y = 46H
2% | T al1kd ehack :  5(0) + 3(20) =Hbd
% B0 Hoo G5 = 4D
—yo-4p He0 = 4o

80 Lrips by +hal 57 buck a 20 ‘\*Ilo,s_ \p\) e 37 _Jgrwck.

i cost, o adult ficket
j-‘- cos{-:,g child meket

fZ’)(-'I-B = HCI-SO \)! 3
3% +2j\,,= o135 [a-2
V)

b b ,
v x +<ij 448, 50
~py — H\y="32350

5§ ~ 125 chack :

Y = 25

2%+ 3C25) = H9.50
2x + 15 =149.50
2% = .50

x = 3f.258

4+ ?-0) = 4(37.25) + 20(25)
= 149 + 500
= 4puq

3(31.25) + 2(25) = 1) 35

H.F5 + 50 = lol?5
1o)35 = lol, 35

Cr™



. X = ¥y Soccer balls
yl= % o basket-bals

X+§D=20  dow.

- 45y +940y =82S
~40x -4Gy = =80
4S8 v +40y = §28
Sx 7= 25 reck: 45(5)+ 40(i5) =825
X = 8 225 + (bco =825
) =15 ) B2S = 325
5 Soceeyr bo.us

8. X Numbey o() uoov\;.\ﬁ a?\:v\\a;\w

’)L—\—j e o
X = \ly
\\) £y - 240
\2)! = 240
> 20
e K| 22D

20 %PWW oxe de{cottxrf.

' - .
9. ’¥.+a,—’"10 Lt
-~

'/2.8_ x+5

10, (O o0.s + 0.250 2456

@ s+l=30
st (0,00 Tt (0,0)
07/ ‘l.{ O & 30
Falas Tewe
shada cloove. shode Lx,‘ou.)

A ’FQSS\HQ Selutions Markel
by dots (can'} \nawe frackions
L. 0’6 bo‘\'\'\ﬂﬂ) -?C’_\L O»\nj
(W -




11 The following graph represents a i /

neighbourhood in your city. You are hired

to carry out a census of the people who live

in the region of the neighbourhood defined
by the following system of inequalities:
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If you are paid $4.25 per house within the
region, calculate the amount you will
earn for the census.
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12 The location of a garden in a Cartesian coordinate graph is

determined by the solutions for the system of inequalities given
below. The scale of the graph is in metres.
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A fence was put up around the edge of the garden. What is the
length of the fence to the nearest tenth? \
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